Motorized Stages

o3 AN 14 — nn
P ME/NERMREEZES | 0SMS(CS)20-(X) F&R+Ossmm  [RoHS |[ CE |
FEEMERITHIZE (SHOT-302GS/304GS * HIT-M - HIT-S) BEE&1# o
AISHEEE, EAEERNEFARES
MRAZRS = o < .
© R B AN G BT (W RE J15k, RA S ZHE, J1H%
. HIRZI, NI, KR AT
2 .
SRS ® SR E /N R, (B HAMERE T2 OSMS R FIIAH
], 22 Rohh—30.
e
B
P AR EREYL, SIEMTELEIIEEE, WilEi.
:9: EID] cor7, G123 (FAIA9%) VI W9500
Pﬁ’tﬁm%ﬂﬁ?ﬁallﬂ Bimis. EDJ G122 DX W9006
FHTL > FAFXYHH, :‘ZZE&EE@EFHH‘T, WA EREEET.
RZhRE AR
RE OSMS(CS)20-35(X) OSMS(CS)20-85(X)
BxFEe W M6HIE OSMS(CS)20-35(X)-M6 OSMS(CS)20-85(X)-M6
INCHEI 2 OSMS(CS)20-35(X)-INCH OSMS(CS)20-85(X)-INCH
17#2 (mm) 35 85
HiR AER (mm) 85X 85 85x 85
24T (mm) FHRaIERR 06 FiE1 RHR4IIERZ 06 Fi21
i SamR VRSN SH, VRIS
B% ] 35 Bae
REAIE 2@l Z2agEt
HE (ko) 1.4 16
(%4) (um/Bkif) 2 2
e A EB) (um/B) 1 :
e / IRZhee B AIEE (mm/sec) 25 25
ELLAEE (um) 5 10
NG BEEE(HE (um) 2 2
oo AR (N) 78.4 (8.0kgf) 78.4 (8.0kgf)
wE {7540 (” /N = cm) 0.4 0.4
ACTIRR HAIER BRI B R ("IN - cm) 0.25 0.25
#3 ("IN - cm) 0.35 0.35
i S (um) 3 3
EHE fEBlERR (um) 3 3
FATE (um) 30 30
EETFEATE (um) 10 10
RE4 (7 ) MR (7)) 30/20 30/20
ERBRS B EfEREEE: GP1S09THCZOF (B (%)) B AERL 3 GP1S092HCPIF (B (%))
- RPR{L B 5% 2% A (&) A (FA)
’ e A (BF) F (&F)
pli: -3t ¥ F (EF)
MR HHE (um) 05 05
BERIEHRT -
[———— il / R FH AR
pEsEA #8) SiEGHmAL 0.66A/48 (SEEIHH (1) )
iz Bl L= TS3664N4E10 (024mm)
BT S 0.72°
. FRIER R DC5~24V+10%
il THFERT 60MAT (A EREER20mARIT) 60mMAIT (BAMEREEE20mAILT)
feRkeR RS NPN%E&#&%M&‘&H DC30VELF50mALL T
C140mm Eemay BT B R EOFF (#1E)
[J60mm il B : ﬁ*Hiaaﬁi""ON (Bi8) : Faferes. i FEae kg
CI80mm FHR R A I / SRR R DC5V*5% /50mA
[185mm
[J100mm Eﬁéﬁﬂ%
d120mm " Elezol-=2R2 D15D15A-CA
HE ) SRR 45 GSEF-CA-3
HeFEE FRIIRBNES / 5258
IXzha -
LR L SHOT-302GS, SHOT-304GS, HIT-M - HIT-S
G040 HOURS

www.hours-web.com



G2 W9066

OSMS(CS)20-% *(X) [ B5%

1242 M4X8...84 (35)
124 M4X8...101 (85)

N’I
>
I

A
85
75
S
fa— 'Y . .]q\
H esoeo
0 o8 T35l I
2 = ©
"“ ’0000. ’f
< oo o
BT, 3
/ b | ¢
AR Rl FEEF
:
=

= _ ﬁE{

16.2

OSMS(CS)20-* *(X)-M6 [

~
o

M FRIEE MaXs...84 (35)
AR HIERE Maxs...101 (85)

A
85
75
@ Ed
— 1 o O © 2
H esoe
Ml & &3 I
o 23
:0000000.f‘
C e by
ez kb
b ¢
AIFEEF

A e EF

29.2
62 | |

OSMS(CS)20-# % (X)-INCH [ %%

12-8-32 UNC iR6

76.2

o
I

A
85 (iR5)
76.2 9-1/4-20 UNC iR6
(¥iR5)
= T
H 00:00 ;
o9 g 5% 0
A 8 3
—-’00000°‘£
— pey
esn B
b ¢
A EEEF A FEEF
[ I
) ——
~
=10

16.2

3

35_ 35 .
25| 25 21-M4X0.7 iR6
M (¥iR5)
seeoe 7]

e * A Nbo 0

EN

LA ~

o o o o

o

2D
CAD

3D
CAD

4 8/32UNCX5/16...84 (35)
# 8/32UNCX5/16...107> (85)

BE A B (o3 D E F
OSMS(CS)20-35(X) 182.6 | 60.8 | 35.8 75 (25%3) 8-94.5| 17.5
OSMS(CS)20-85(X) 232.6|85.8|35.8| 100(25X4) |10-¢4.5| 42.5
85
75
%, 12-M4X0.7 6
- TR
£ ) e
A‘l_oo’ooiﬁ g
oo g0l 8
LAARS ~
0'0 3 K‘Q
9-M6X 1 6
(¥iRS)
BE A B C D E F
OSMS(CS)20-35(X)-M6 | 182.6| 60.8 | 35.8 75 (25%3) 8-94.5| 17.5
OSMS(CS)20-85(X)-M6 | 232.6| 85.8 | 35.8 | 100 (25X4) |10-44.5| 42.5
85
76.2
34.93 3493 || 12-8-32UNC iR6
‘25.4 254 || / (%FS5)
3
éoo’ooé ;1,‘,
& & &% SRl
IR
o
\ 9-1/4-20UNC iR6
(¥iR5)
BE A B (o} D E F
OSMS(CS)20-35(X)-INCH | 182.6| 60.8 | 35.4 | 76.2 (25.4X3) | 8-¢4.5| 17.5
OSMS(CS)20-85(X)-INCH | 232.6| 85.8 | 35 | 101.6 (25.4X4) |10-$4.5| 42.5
W=7 / B AR HIIERD

zController_CoppStCable g TIStage |

s :
D15D15A-CA
ED] G120

e jCable B

OO

GSEF-CA
ED) G121

SHOT-302GS (2%#)
SHOT-304GS (4%#)
HIT-M-HIT-S (8%)

ED] G113~G115

HOURS

www.hours-web.com

OSMS(

CS)

Rz R %

HFETH -

IR

HH

JREE

FHTE

RanEE

WExTEs

BF

NG

23 / e
B

Fital
AcfaR

:E

ERMEE

HEEHRTI
LB
E2320)

HER
prAlojt

O040mm
[060mm
[080mm
[185mm
[0100mm
0120mm
HE

G041



http://www.hours-web.com/ch/ProductView.asp?ID=633
https://pan.baidu.com/s/1Pm7d3avTsJctxlxzk0jSXA

	02C_G_MotorizedStages pdf - 副本 1
	02C_G_MotorizedStages pdf - 副本 2



